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Question Id : 92090612155 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

Why aircraft lessors’ woes may lead to costlier flights

New Delhi: Record high airfares hurting passengers could rise even further
following yet another instance of foreign lessors facing roadblocks in repossessing
their aircraft from a troubled Indian carrier. Leasing aircraft could cost 20-25% more
for startups and financially weak Indian carriers after the Go First case where lessors
are now barred from taking their planes back for at least six months unless the
NCLAT gives them some relief people in the know said. Only Indigo and Tata group
carriers led by air India could be spared this increased cost as they are good credit for
lessors lease rentals account for 10-12% of an airline’s operating cost. A 20-25%
increase in lease rentals will mean overall cost rising by 2-3% which will have to
reflect in ticket prices. Except Al and Indigo it will be very challenging for other
airlines, including startups. NCLT has directed go first erstwhile board to deposit
Rs.5 crore with the resolution professional while the 55 aircraft currently with the
airline are worth over $2.5 billion,” said an industry veteran. Now at the first sign of
trouble in an Indian carrier lessors will line up to responses planes to avoid such a
scenario where an airline uses the IBC route to escape de-registration of aircraft said
another official. In the past also, lessors faced trouble in getting planes back from
airlines such as jet and kingfisher that went bust, with aircraft stuck with the later
being sold as scrap after rotting away at Indian airports. Meanwhile Go's new
management will have to satisfy DGCA that it has the resources to safely operate
flights in term of money manpower and machines.

US engine co PW hits back at Go First, blames “financial mismanagement’.
Go First may have blamed Pratt & Whitney (PW) for its troubles but the US
aerospace major has hit back at the airline. “Go First is seeking to jump the line for
engines over other customers worldwide. Airline customers, who have been in good
financial standing and compliant with contracts, should not be made to suffer due to
the financial mismanagement and contractual violations of one particular airline,”
said sources. Over 50 airbus A320neos of Go and Indigo are grounded due to PW
engines. Asked about these planes, a PW spokesperson said “Expect supply chain to
stabilize throughout 2023....7

Sub questions

Question Number : 1 Question Id : 92090612156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Why airfares already too high could rise even further?

(1) Due to raising fuel cost
(2) Due to raising fuel cost maintenance cost
(3)  Foreign lessors facing problems to buy new aircrafts

(4) A troubled aireraft Indian carrier possesses aircrafts from foreign lessers and
has become the root cause for airfare hike.

Options :

92090648001. 1
92090648002. 2
92090648003. 3
92090648004. 4

Question Number : 2 Question Id : 92090612157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yiven below are two statements :

Statement I :  The full form of NCLAT is National company Low Aviatron
Tribural.
Statement I . Full form of DGCA is Director General of Carrier Aviation.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement I and Statement Il are false
(3) Statement 1 is true but Statement I1 is false

(4) Statement [ is false but Statement I is true
Options :
92090648005. 1
92090648006. 2
92090648007. 3
92090648008. 4

Question Number : 3 Question Id : 92090612158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

After which case leasing aircraft could cost 20-25% more?
(1) NCLAT case

{2y DGCA case

(3 Go first case

{4y Al indigo case
Options :
92090648009. 1
92090648010. 2
92090648011. 3
92090648012. 4

Question Number : 4 Question Id : 92090612159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The overall cost raising due to the lease rented issue will be

(1) 20-25%
(2) 10-12%
(3) 2-3%
(4) 10-25%
Options :

92090648013. 1
92090648014. 2
92090648015. 3
92090648016. 4

Question Number : 5 Question Id : 92090612160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Go First is seeking to jump the line for engines over other customers worldwide. The
underlined phrase means:

(1)  To skip the que.
(2)  To skip the que and go to the last place.
(3)  To skip the que while waiting for one’s turn.

(4) To skip the que and go ahead without waiting for one’s turn.

Options :



92090648017. 1
92090648018. 2
92090648019. 3
92090648020. 4

Question Id : 92090612155 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

Why aircraft lessors’ woes may lead to costlier flights

New Delhi: Record high airfares hurting passengers could rise even further
following yet another instance of foreign lessors facing roadblocks in repossessing
their aircraft from a troubled Indian carrier. Leasing aireraft could cost 20-25% more
for startups and financially weak Indian carriers after the Go First case where lessors
are now barred from taking their planes back for at least six months unless the
NCLAT gives them some relief people in the know said. Only Indigo and Tata group
carriers led by air India could be spared this increased cost as they are good credit for
lessors lease rentals account for 10-12% of an airline’s operating cost. A 20-25%
increase in lease rentals will mean overall cost rising by 2-3% which will have to
reflect in ticket prices. Except Al and Indigo it will be very challenging for other
airlines, including startups. NCLT has directed go first erstwhile board to deposit
Rs.5 crore with the resolution professional while the 55 aircraft currently with the
airline are worth over $2.5 billion,” said an industry veteran. Now at the first sign of
trouble in an Indian carrier lessors will line up to responses planes to avoid such a
scenario where an airline uses the IBC route to escape de-registration of aircraft said
another official. In the past also, lessors faced trouble in getting planes back from
airlines such as jet and kingfisher that went bust, with aircraft stuck with the later
being sold as scrap after rotting away at Indian airports. Meanwhile Go's new
management will have to satisfy DGCA that it has the resources to safely operate
flights in term of money manpower and machines.

US engine co PW hits back at Go First, blames ‘financial mismanagement’.
Go First may have blamed Pratt & Whitney (PW) for its troubles but the US
aerospace major has hit back at the airline. “Go First is seeking to jump the line for
engines over other customers worldwide. Airline customers, who have been in good
financial standing and compliant with contracts, should not be made to suffer due to
the financial mismanagement and contractual violations of one particular airline,”
said sources. Over 50 airbus A320neos of Go and Indigo are grounded due to PW
engines. Asked about these planes, a PW spokesperson said “Expect supply chain to
stabilize throughout 2023....”

Sub questions

Question Number : 1 Question Id : 92090612156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Why airfares already too high could rise even further?

(1) Due to raising fuel cost
(2) Due to raising fuel cost maintenance cost
(3)  Foreign lessors facing problems to buy new aircrafts

(4) A troubled aircraft Indian carrier possesses aircrafts from foreign lessers and
has become the root cause for airfare hike.

Options :

92090648001. 1
92090648002. 2
92090648003. 3
92090648004. 4

Question Number : 2 Question Id : 92090612157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jiven below are two statements ¢

Statement I :  The full form of NCLAT 1s National company Low Aviatron
Tribural.
Statement 11 : Full form of DGCA is Director General of Carrier Aviation.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement I are true
(2) Both Statement I and Statement I are false
(3) Statement [ is true but Statement 11 is false

(4) Statement [ is false but Statement I is true
Options :
92090648005. 1
92090648006. 2
92090648007. 3
92090648008. 4



Question Number : 3 Question Id : 92090612158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After which case leasing aircraft could cost 20-25% more?
(1) MNCLAT case

(2) DGCA caze

(3)  Go first case

(4) Al indigo case
Options :
92090648009. 1
92090648010. 2
92090648011. 3
92090648012. 4

Question Number : 4 Question Id : 92090612159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The overall cost raising due to the lease rented issue will be
(1) 20-25%
(2) 10-12%
(3 2-3%

(

4} 10-25%

T

Options :

92090648013. 1
92090648014. 2
92090648015. 3
92090648016. 4

Question Number : 5 Question Id : 92090612160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Go First 1s seeking to jump the line for engines over other customers worldwide. The
underlined phrase means:

(1) To skip the que.
(2)  To skip the que and go to the last place.
(3)  To skip the que while waiting for one’s turn.

(4)  To skip the que and go ahead without waiting for one’s turn.

Options :

92090648017. 1
92090648018. 2
92090648019. 3
92090648020. 4

Question Id : 92090612155 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Why aircraft lessors’ woes may lead to costlier flights

New Delhi: Record high airfares hurting passengers could rise even further
following yet another instance of foreign lessors facing roadblocks in repossessing
their aircraft from a troubled Indian carrier. Leasing aircraft could cost 20-25% more
for startups and financially weak Indian carriers after the Go First case where lessors
are now barred from taking their planes back for at least six months unless the
NCLAT gives them some relief people in the know said. Only Indigo and Tata group
carriers led by air India could be spared this increased cost as they are good credit for
lessors lease rentals account for 10-12% of an airline’s operating cost. A 20-25%
increase in lease rentals will mean overall cost rising by 2-3% which will have to
reflect in ticket prices. Except Al and Indigo it will be very challenging for other
airlines, including startups. NCLT has directed go first erstwhile board to deposit
Rs.5 crore with the resolution professional while the 55 aircraft currently with the
airline are worth over $2.5 billion,” said an industry veteran. Now at the first sign of
trouble in an Indian carrier lessors will line up to responses planes to avoid such a
scenario where an airline uses the IBC route to escape de-registration of aircraft said
another official. In the past also, lessors faced trouble in getting planes back from
airlines such as jet and kingfisher that went bust, with aircraft stuck with the later
being sold as scrap after rotting away at Indian airports. Meanwhile Go's new
management will have to satisfy DGCA that it has the resources to safely operate
flights in term of money manpower and machines.

US engine co PW hits back at Go First, blames ‘financial mismanagement’.
Go First may have blamed Pratt & Whitney (PW) for its troubles but the US
aerospace major has hit back at the airline. “Go First is seeking to jump the line for
engines over other customers worldwide. Airline customers, who have been in good
financial standing and compliant with contracts, should not be made to suffer due to
the financial mismanagement and contractual violations of one particular airline.”
said sources. Over 50 airbus A320neos of Go and Indigo are grounded due to PW
engines. Asked about these planes, a PW spokesperson said “Expect supply chain to
stabilize throughout 2023...7

Sub questions

Question Number : 1 Question Id : 92090612156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Why airfares already too high could rise even further?

(1)  Due to raising fuel cost
(2)  Due to raising fuel cost maintenance cost
(3)  Foreign lessors facing problems to buy new aircrafts

(4) A troubled aircraft Indian carrier possesses aircrafts from foreign lessers and
has become the root cause for airfare hike.

Options :



92090648001. 1
92090648002. 2
92090648003. 3
92090648004. 4

Question Number : 2 Question Id : 92090612157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I 1 The full form of NCLAT is National company Low Aviatron
Tribural.
Statement 11 : Full form of DGCA is Director General of Carrier Aviation.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement I are true
(2) Both Statement I and Statement II are false
(3) Statement [ 1s true but Statement 11 is false

(4) Statement [ is false but Statement Il 1s true
Options :
92090648005. 1
92090648006. 2
92090648007. 3
92090648008. 4

Question Number : 3 Question Id : 92090612158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



After which case leasing aircraft could cost 20-25% more?
(1} NCLAT case

(2) DGCA caze

(3)  Go first case

(4) Al indigo case
Options :
92090648009. 1
92090648010. 2
92090648011. 3
92090648012. 4

Question Number : 4 Question Id : 92090612159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The overall cost raising due to the lease rented issue will be

(1) 20-25%
(2} 10-12%
(3) 2-3%

(4) 10-25%

Options :

92090648013. 1
92090648014. 2
92090648015. 3
92090648016. 4

Question Number : 5 Question Id : 92090612160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Go First 1s seeking to jump the line for engines over other customers worldwide. The
underlined phrase means:

(1)  To skip the que.

(2)  To skip the que and go to the last place.

(3)  To skip the que while waiting for one’s turn.

(4)  To skip the que and go ahead without waiting for one’s turn.
Options :
92090648017. 1
92090648018. 2



92090648019. 3
92090648020. 4

Sub-Section Number : 2
Sub-Section Id : 920906399
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090612161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Change voice for the given statements ‘Do not tease the monkey’.

(1) Let the monkey be not teased.
(2) The monkey are not being teased.
(3)  Let the monkey not be teased.

(4)  The monkey has not been teased.

Options :

92090648021. 1
92090648022. 2
92090648023. 3
92090648024. 4

Question Number : 6 Question Id : 92090612161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Change voice for the given statements ‘Do not tease the monkey’.

(1) Let the monkey be not teased.
(2) The monkey are not being teased.
(3)  Let the monkey not be teased.

(4)  The monkey has not been teased.

Options :

92090648021. 1
92090648022. 2
92090648023. 3
92090648024. 4

Question Number : 6 Question Id : 92090612161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Change voice for the given statements ‘Do not tease the monkey’.

(1) Let the monkey be not teased.
(2) The monkey are not being teased.
(3)  Let the monkey not be teased.

(4)  The monkey has not been teased.

Options :

92090648021. 1
92090648022. 2
92090648023. 3
92090648024. 4

Question Number : 7 Question Id : 92090612162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the appropriate meaning the foreign word: ‘carte blanche’

(1) Official intimation
(2) Bad intention
(3) Hair dresser

(4) Full freedom of action

Options :

92090648025. 1
92090648026. 2
92090648027. 3
92090648028. 4

Question Number : 7 Question Id : 92090612162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the appropriate meaning the foreign word: ‘carte blanche’

(1) Official intimation

(2) Bad intention

(3 Hair dresser

(4) Full freedom of action
Options :

92090648025. 1
92090648026. 2



92090648027. 3
92090648028. 4

Question Number : 7 Question Id : 92090612162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the appropriate meaning the foreign word: ‘carte blanche’

(1) Official intimation
(2) Bad intention
(3 Hair dresser

(4) Full freedom of action

Options :

92090648025. 1
92090648026. 2
92090648027. 3
92090648028. 4

Question Number : 8 Question Id : 92090612163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions given in order from the options given
below: The daytime temperature increased over two degree _ Delhi
thursday. The weather station _ sports complex near Akshrdham recorded 41.1
degree Celsius which was the highest in the city.

(1) by, at, in, of (2) by, in, on, at
(3) by. at, in, on (4) by, at, in, from
Options :

92090648029. 1
92090648030. 2
92090648031. 3
92090648032. 4

Question Number : 8 Question Id : 92090612163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions given in order from the options given
below: The daytime temperature increased over two degree _ Delhi _
thursday. The weather station __ sports complex near Akshrdham recorded 41.1
degree Celsius which was the highest in the city.

(1) by, at, in, of (2) by, in, on, at
(3) by, at, in, on (4) by, at, in, from
Options :

92090648029. 1
92090648030. 2
92090648031. 3
92090648032. 4

Question Number : 8 Question Id : 92090612163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions given in order from the options given
below: The daytime temperature increased over two degree _ Delhi
thursday. The weather station __ sports complex near Akshrdham recorded 41.1
degree Celsius which was the highest in the city.

(1) by, at, in, of (2) by, in, on, at
(3) by, at, in, on (4) by, at, in, from
Options :

92090648029. 1
92090648030. 2
92090648031. 3
92090648032. 4

Question Number : 9 Question Id : 92090612164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the appropriate direct- speech for the Indirect-speech given below: Alok said, “1
have completed my work.”
(1) Alok tells, “he completed his work,”
(2)  Alok says that his work 1s completed.
(3) Alok said that he had completed his work.
(4) My work is completed; Alok said.
Options :
92090648033. 1
92090648034. 2



92090648035. 3
92090648036. 4

Question Number : 9 Question Id : 92090612164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the appropriate direct- speech for the Indirect-speech given below: Alok said, “ 1
have completed my work.”

(1)  Alok tells, “he completed his work,”

(2)  Alok says that his work is completed.

(3) Alok said that he had completed his work.
(4) My work 1s completed; Alok said.

Options :

92090648033. 1
92090648034. 2
92090648035. 3
92090648036. 4

Question Number : 9 Question Id : 92090612164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the appropriate direct- speech for the Indirect-speech given below: Alok said, “1
have completed my work.”

(1)  Alok tells, “he completed his work,”

(2)  Alok says that his work 1s completed.

(3) Alok said that he had completed his work.
(4) My work is completed; Alok said.

Options :

92090648033. 1
92090648034. 2
92090648035. 3
92090648036. 4

Question Number : 10 Question Id : 92090612165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Synonym of the word ‘captive’ is: -
{1} Candid (2}  Censure

(3 Pragmatic (4) Prisoner

Options :

92090648037. 1
92090648038. 2
92090648039. 3
92090648040. 4

Question Number : 10 Question Id : 92090612165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Synonym of the word ‘captive’ is: -

(1) Candid (2) Censure

(3) Pragmatic (4) Prisoner

Options :

92090648037. 1
92090648038. 2
92090648039. 3
92090648040. 4

Question Number : 10 Question Id : 92090612165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word ‘captive’ is: -

(1) Candid (2} Censure
(3) Pragmatic (4) Prisoner
Options :

92090648037. 1
92090648038. 2
92090648039. 3
92090648040. 4

Question Number : 11 Question Id : 92090612166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The values of M and N, which satisfy the equation M-N+9=0 and M+3N=19, are
respectively:

(1) 2.-7
(2) 7, -2
(3) 2.7
(4) 2,7
Options :

92090648041. 1
92090648042. 2
92090648043. 3
92090648044. 4

Question Number : 11 Question Id : 92090612166 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The values of M and N, which satisfy the equation M-N+9=0 and M+3N=19, are
respectively:

(1) 2,-7
(2) 7, -2
(3) 2.7
(4) 2,7
Options :

92090648041. 1
92090648042. 2
92090648043. 3
92090648044. 4

Question Number : 11 Question Id : 92090612166 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The values of M and N, which satisfy the equation M-N+9=0 and M+3N=19, are
respectively:

(1) 2,-T
(2) 7, -2
(3) 2, T
(4) 2,7
Options :

92090648041. 1



92090648042. 2
92090648043. 3
92090648044. 4

Question Number : 12 Question Id : 92090612167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 8 =4 =2° and, x+2y+z=35then the value of x is:

(1) 3 (2) 4
(3) 5 4 2
Options :

92090648045. 1
92090648046. 2
92090648047. 3
92090648048. 4

Question Number : 12 Question Id : 92090612167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 8 =4" =2 and, x+2y+z =35then the value of x is:

(1) 3 (2) 4
(3) 5 4 2
Options :

92090648045. 1
92090648046. 2
92090648047. 3
92090648048. 4

Question Number : 12 Question Id : 92090612167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 8 =4"=2° and, x+2y+z =35then the value of x is:

(1) 3 (2) 4
3 8 4 2
Options :

92090648045. 1
92090648046. 2



92090648047. 3
92090648048. 4

Question Number : 13 Question Id : 92090612168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product of LCM and HCF of any two expression is af—y@y+xyi—y? first expression is (e2ty2)
then the second expression will be:

(1) (x=y) (2) (x+v)
(3} (x2—y2) (4)  (x—y+xy)
Options :

92090648049. 1
92090648050. 2
92090648051. 3
92090648052. 4

Question Number : 13 Question Id : 92090612168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product of LCM and HCF of any two expression is ai-fy+xyiyd first expression is (x2ty2)
then the second expression will be:

(1) (x—y) (2) (x+y)
(3) (x3-y=) (1)  (x-y+xy)
Options :

92090648049. 1
92090648050. 2
92090648051. 3
92090648052. 4

Question Number : 13 Question Id : 92090612168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product of LCM and HCF of any two expression is xxfy+xy ' first expression is (x2*y2)
then the second expression will be:

(1) (x—v) (2) (x+y)
(3) (x2-y2) (1)  (x—y+xy)

Options :



92090648049. 1
92090648050. 2
92090648051. 3
92090648052. 4

Question Number : 14 Question Id : 92090612169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; : ; T X
In how many time will a sum of money doubles itself at 7% simple interest per

ds

annum:

(1) 14 years 3 months
(2) 13 years 4 month
(3) 13 years 9 month
(4) 13 years 3 month

Options :

92090648053. 1
92090648054. 2
92090648055. 3
92090648056. 4

Question Number : 14 Question Id : 92090612169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; : ; N \
In how many time will a sum of money doubles itself at 7% simple interest per

“

annum:
(1) 14 years 3 months
(2) 13 years 4 month
(3) 13 years 9 month
(4) 13 years 3 month

Options :

92090648053. 1

92090648054. 2

92090648055. 3
92090648056. 4

Question Number : 14 Question Id : 92090612169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

; : ; 1 ; X
In how many time will a sum of money doubles itself at 1= simple interest per

e

annum:

(1) 14 yvears 3 months
(2) 13 years 4 month
(3) 13 years 9 month
(4) 13 years 3 month
Options :
92090648053. 1
92090648054. 2

92090648055. 3
92090648056. 4

Question Number : 15 Question Id : 92090612170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of money, which will amount to Rs.16.810 in 6 months at the rate of 10% per
annum when the interest is compounded quarterly is :
(1) Rs.16,400
(2) Rs.15,500
(3) Rs.15,000
(4)  Rs.16.,000
Options :
92090648057. 1
92090648058. 2

92090648059. 3
92090648060. 4

Question Number : 15 Question Id : 92090612170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of money, which will amount to Rs.16,810 in 6 months at the rate of 10% per
annum when the interest is compounded quarterly is :

(1) Rs.16,400

(2) Rs.15,500

(3) Rs.15,000

(4) Rs.16.000



Options :

92090648057. 1
92090648058. 2
92090648059. 3
92090648060. 4

Question Number : 15 Question Id : 92090612170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of money, which will amount to Rs.16,810 in 6 months at the rate of 10% per
annum when the interest is compounded quarterly is :

(1) Rs.16,400
(2) Rs.15.500
(3) Rs.15,000
(4) Rs.16,000

Options :

92090648057. 1
92090648058. 2
92090648059. 3
92090648060. 4

Question Number : 16 Question Id : 92090612171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8CMaNLT2Y6SaQ$7*W#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

(1) 1 2) 2
(3) 3 (4) 4
Options :

92090648061. 1
92090648062. 2
92090648063. 3
92090648064. 4

Question Number : 16 Question Id : 92090612171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



8CMaNLT2Y6SaQ$7*W#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

(1) 1 (2) 2
(3) 3 (4) 4
Options :

92090648061. 1
92090648062. 2
92090648063. 3
92090648064. 4

Question Number : 16 Question Id : 92090612171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8CM@aNLT2Y6SaQ$7*W#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

(1) 1 2) 2
(3 3 (4) 4
Options :

92090648061. 1
92090648062. 2
92090648063. 3
92090648064. 4

Question Number : 17 Question Id : 92090612172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statement : A college student said, “ everyone desires to buy a personal

computer”
Assumption I : personal computers are not a need but a luxury

IT : Use of personal computers improve quality of skill.

Which of the above assumption (5) is /are implicit in the statement?

(1) Only assumption |
(2) Only assumption 11
(3)  Assumption | and assumption 11

(4) Neither assumption I or assumption 11

Options :

92090648065. 1
92090648066. 2
92090648067. 3
92090648068. 4

Question Number : 17 Question Id : 92090612172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statement : A college student said, “ everyone desires to buy a personal

computer”
Assumption I : personal computers are not a need but a luxury

IT : Use of personal computers improve quality of skill.

Which of the above assumption (5) is /are implicit in the statement?

(1) Only assumption |
(2) Only assumption 11
(3)  Assumption | and assumption 11

(4) Neither assumption I or assumption 11

Options :

92090648065. 1
92090648066. 2
92090648067. 3
92090648068. 4

Question Number : 17 Question Id : 92090612172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statement : A college student said, “ everyone desires to buy a personal

computer”
Assumption I : personal computers are not a need but a luxury

IT : Use of personal computers improve quality of skill.

Which of the above assumption (5) is /are implicit in the statement?

(1) Only assumption |
(2) Only assumption 11
(3)  Assumption | and assumption 11

(4) Neither assumption I or assumption 11

Options :

92090648065. 1
92090648066. 2
92090648067. 3
92090648068. 4

Question Number : 18 Question Id : 92090612173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8CMaNLT2Y6SaQ37*W#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

iy 1 (2) 2
(3) 3 (4) 4
Options :

92090648069. 1
92090648070. 2
92090648071. 3
92090648072. 4

Question Number : 18 Question Id : 92090612173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

8CM@NLT2Y6SaQ$7*W#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

21 . (2) Z
(3) 3 (4) 4
Options :

92090648069. 1
92090648070. 2
92090648071. 3
92090648072. 4

Question Number : 18 Question Id : 92090612173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
8CM@NLT2Y6SaQ$7*W#z3UE%A4 How many symbols are there in the above

arrangement which are immediately preceded and also immediately following by a
vowel?

21 . (2) Z
(3) 3 (4) 4
Options :

92090648069. 1
92090648070. 2
92090648071. 3
92090648072. 4

Question Number : 19 Question Id : 92090612174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many number of rectangles are there in the following figure?

(1) 10 (2) 19
(3) 18 (4) 20

Options :



92090648073. 1
92090648074. 2
92090648075. 3
92090648076. 4

Question Number : 19 Question Id : 92090612174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many number of rectangles are there in the following figure?

(1) 10 (2) 19
(3) 18 (4) 20
Options :

92090648073. 1
92090648074. 2
92090648075. 3
92090648076. 4

Question Number : 19 Question Id : 92090612174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many number of rectangles are there in the following figure?

(1) 10 (2) 19
(3) 18 (4) 20
Options :

92090648073. 1
92090648074. 2
92090648075. 3
92090648076. 4



Question Number : 20 Question Id : 92090612175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 45, where boys are twice that of girls, Geeta ranked eleventh from the
top. If there are 6 boys ahead of Geeta, how many girls are after her in the ranking?

(1) a4 (2) 24
(3) 10 (4) 12
Options :

92090648077. 1
92090648078. 2
92090648079. 3
92090648080. 4

Question Number : 20 Question Id : 92090612175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 45, where boys are twice that of girls, Geeta ranked eleventh from the
top. If there are 6 boys ahead of Geeta, how many girls are after her in the ranking?

(1) 34 (2) 24
(3) 10 (4) 12
Options :

92090648077. 1
92090648078. 2
92090648079. 3
92090648080. 4

Question Number : 20 Question Id : 92090612175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 45, where boys are twice that of girls, Geeta ranked eleventh from the
top. If there are 6 boys ahead of Geeta, how many girls are after her in the ranking?

(1) 34 (2) 24
(3) 10 (4) 12
Options :

92090648077. 1
92090648078. 2
92090648079. 3



92090648080. 4

Question Number : 21 Question Id : 92090612176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The patient-to-doctor teleconsultation System developed for MoHFW has been named

as:

(1) e-Chikitsa (2) e-Sanjeevani
(3) e-Swasthya (4) e-Nirvana
Options :

92090648081. 1
92090648082. 2
92090648083. 3
92090648084. 4

Question Number : 21 Question Id : 92090612176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The patient-to-doctor teleconsultation System developed for MoHFW has been named

as:

(1) e-Chikitsa (2) e-Sanjeevani
(3) e-Swasthyva (4) e-Nirvana
Options :

92090648081. 1
92090648082. 2
92090648083. 3
92090648084. 4

Question Number : 21 Question Id : 92090612176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The patient-to-doctor teleconsultation System developed for MoHFW has been named

as:
(1) e-Chikitsa (2) e-Sanjeevani
(3) e-Swasthya (4) e-Nirvana

Options :



92090648081. 1
92090648082. 2
92090648083. 3
92090648084. 4

Question Number : 22 Question Id : 92090612177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many members of Rajya Sabha are nominated by President from science, Art,
literature and social service background?

(1) 20 (2) 8
(3) 12 (4) 15
Options :

92090648085. 1
92090648086. 2
92090648087. 3
92090648088. 4

Question Number : 22 Question Id : 92090612177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many members of Rajya Sabha are nominated by President from science, Art,
literature and social service background?

(1) 20 (2) 8
(3) 12 (4) 15
Options :

92090648085. 1
92090648086. 2
92090648087. 3
92090648088. 4

Question Number : 22 Question Id : 92090612177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many members of Rajya Sabha are nominated by President from science, Art,
literature and social service background?

(1) 20 (2) 8
(3) 12 (4) 15
Options :

92090648085. 1
92090648086. 2
92090648087. 3
92090648088. 4

Question Number : 23 Question Id : 92090612178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Constitution of India Derives its ultimate authority from:

(1) Supreme Court of India (2) Parliament of India

(3) People of India (4) Constitutional Assembly

Options :

92090648089. 1
92090648090. 2
92090648091. 3
92090648092. 4

Question Number : 23 Question Id : 92090612178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Constitution of India Derives its ultimate authority from:

(1) Supreme Court of India (2) Parliament of India

(3) People of India (4) Constitutional Assembly

Options :

92090648089. 1
92090648090. 2
92090648091. 3
92090648092. 4

Question Number : 23 Question Id : 92090612178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Constitution of India Derives its ultimate authority from:

(1) Supreme Court of India (2) Parliament of India

(3) People of India (4) Constitutional Assembly

Options :

92090648089. 1
92090648090. 2
92090648091. 3
92090648092. 4

Question Number : 24 Question Id : 92090612179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Space Hesearch Organisation (ISR0) is planning to launch which mission in
collaboration with French Space Agency (NES) hy year 20257

(1) Mars Mission (2) Jupiter Mission

(3) Saturn Mission (4)  Venus Mission

Options :

92090648093. 1
92090648094. 2
92090648095. 3
92090648096. 4

Question Number : 24 Question Id : 92090612179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Space Hesearch Organisation (ISR0) is planning to launch which mission in
eollahoration with French Space Agency (NES) hy year 20257

(1) Mars Mission (2) Jupiter Mission
(3) Saturn Mission (4)  Venus Mission
Options :

92090648093. 1
92090648094. 2
92090648095. 3
92090648096. 4

Question Number : 24 Question Id : 92090612179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Indian Space Hesearch Organisation (ISR0) is planning to launch which mission in
collaboration with French Space Agency (NES) hy year 20257

(1) Mars Mission (2) Jupiter Mission

(3) Saturn Mission (4)  Venus Mission

Options :

92090648093. 1
92090648094. 2
92090648095. 3
92090648096. 4

Question Number : 25 Question Id : 92090612180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Quarter erystals used in quarters clock are chemically: -

(1) Germanium oxide
(2) Silicon dioxide
(3) sodium silicate

(4) mixture of germanium oxide and silicon dioxide

Options :

92090648097. 1
92090648098. 2
92090648099. 3
92090648100. 4

Question Number : 25 Question Id : 92090612180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Quarter erystals used in quarters clock are chemically: -

(1) Germanium oxide

(2) Silicon dioxide

(3) sodium silicate

(4)  mixture of germanium oxide and silicon dioxide
Options :
92090648097. 1

92090648098. 2
92090648099. 3



92090648100. 4

Question Number : 25 Question Id : 92090612180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Quarter crystals used in quarters clock are chemieally: -

(1) Germanium oxide

(2) Silicon dioxide

(3) sodium silicate

(4) mixture of germanium oxide and silicon dioxide
Options :
92090648097. 1
92090648098. 2

92090648099. 3
92090648100. 4

Part B: Korean

Section Id : 920906242
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906400
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090612181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( JOfl E0{Z 71 YRS O SAE LE2EHA L.

Z37H oz FMAa.

1) K&
2) LT
3)  HoOL

4)  HOC=

Options :

92090648101. 1
92090648102. 2
92090648103. 3
92090648104. 4

Question Number : 26 Question Id : 92090612181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( JOfl E0{Z 71 YRS O SAE LE2EHA L.

Z37H oz FMAa.

1) =
2) H2|=
3) 20|

4)  HOC=

Options :

92090648101. 1
92090648102. 2
92090648103. 3
92090648104. 4

Question Number : 26 Question Id : 92090612181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( JOfl E0{Z 71 YRS O SAE LE2EHA L.

B37H oz =M Q.

1) =
2) H2|=
3) HO|=

4) HOICHE

Options :

92090648101. 1
92090648102. 2
92090648103. 3
92090648104. 4

Question Number : 27 Question Id : 92090612182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( JOll EZ 7HE LU2 SAE D124 2.

FelME 28 OFF Z( ) M/OMM/0IA & RHAIH =

1) | 2C}
2) 220
3) A2
4) X|C}
Options :

92090648105. 1
92090648106. 2
92090648107. 3
92090648108. 4

Question Number : 27 Question Id : 92090612182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( JOll E0{Z 7HE LU2 EALE D24A 2,

FelME 28 OFF Z( )HM/OMM/0IA & RHAIH 8.

1) | 2C}
2) Bart
3) A2
4) x| Ct
Options :

92090648105. 1
92090648106. 2
92090648107. 3
92090648108. 4

Question Number : 27 Question Id : 92090612182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( )0l S01Z 71 LU2 SAHE 12HA 2.

FelMe a2l E OFF Z( )OIA/0kM /0l E XY 2.

1) M Z2Ct
2) HFEn
3)  Ztt
4) X|Ct
Options :

92090648105. 1
92090648106. 2
92090648107. 3
92090648108. 4

Question Number : 28 Question Id : 92090612183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol SOIE 71 Y2 SAE DE2HAM L.

L= Bl A =& F0toiA Cigt o] S0{7+H Ef A & SO0k 0 ( )1l ¥ Cf.
1) Ystsict
2) Y5t
3)  rhsict
a)  7resict
Options :

92090648109. 1
92090648110. 2
92090648111. 3
92090648112. 4

Question Number : 28 Question Id : 92090612183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( Ol S01Z 71 L2 SAHE R2HA .

Lt= Ef A =& FOMHA Cigt o] SO0{/H3 Ef A< S0F2|0f ( L

H>
o

1) istotCt
2) U HSIC}
3) o

C
5 b}

Options :

92090648109. 1
92090648110. 2
92090648111. 3
92090648112. 4

Question Number : 28 Question Id : 92090612183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol SOIE 71 Y2 SAE DE2HAM L.

L= Ef =& FO0tollM Cisf o] SO{7}3H Ef A= S0F2|0f] )11+ CF.
1) Ystsict
2)  YHsICt
3)  YChsict
4)  ZheiotL
Options :

92090648109. 1
92090648110. 2
92090648111. 3
92090648112. 4

Question Number : 29 Question Id : 92090612184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CtE SOl 24 8l= AE RE2EHA L.

1) BT

2) 5AM

3 HUx

4) =
Options :

92090648113. 1
92090648114. 2
92090648115. 3
92090648116. 4

Question Number : 29 Question Id : 92090612184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CtS S0l &4 gle A2 12HdA 2.

1) EHF
2) =M
3) HiL A
4) il
Options :

92090648113. 1
92090648114. 2
92090648115. 3
92090648116. 4

Question Number : 29 Question Id : 92090612184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Cts S0l 24 gls A2 12HA 2.

1) &7
2) SM
3 EHUA
4) =
Options :

92090648113. 1
92090648114. 2
92090648115. 3
92090648116. 4

Question Number : 30 Question Id : 92090612185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIS HEHo| 71 Y2 =2 n24A 2.

A3 x5

1) Artificial Intelligence
2) Risk Taking Ability
3) Human Intelligence

4) Brain Drain

Options :

92090648117. 1
92090648118. 2
92090648119. 3
92090648120. 4

Question Number : 30 Question Id : 92090612185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHS 582 78 YH2 X2 n2dA L.

A3 X5

1) Artificial Intelligence
2) Risk Taking Ability
3) Human Intelligence

4) Brain Drain

Options :

92090648117. 1
92090648118. 2
92090648119. 3
92090648120. 4

Question Number : 30 Question Id : 92090612185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIS HEHo| 71 Y2 =2 n24A 2.

A3 x5

1) Artificial Intelligence
2) Risk Taking Ability
3) Human Intelligence

4) Brain Drain

Options :

92090648117. 1
92090648118. 2
92090648119. 3
92090648120. 4

Question Number : 31 Question Id : 92090612186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHS B8 7t ¥H2 X2 n2dA 2.

nk-
1) Employment
2) Usability

3) High Score
4) Uploading

Options :

92090648121. 1
92090648122. 2
92090648123. 3
92090648124. 4

Question Number : 31 Question Id : 92090612186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CtE 289 7 22 X8 124 2.

418

1) Employment
2) Usability

3) High Score
4) Uploading

Options :

92090648121. 1
92090648122. 2
92090648123. 3
92090648124. 4

Question Number : 31 Question Id : 92090612186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CtE 289 7 22 X8 124 2.

418

1) Employment
2) Usability

3) High Score
4) Uploading

Options :

92090648121. 1
92090648122. 2
92090648123. 3
92090648124. 4

Question Number : 32 Question Id : 92090612187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ChE & 7Fd %A A Zet 218 n=24dML.

List I List II
AES l. Gift
B. &5 Il. Branded Product
C M= I1l. Product
D. 3% IV. Component

1. A-IV, B-l, C-lI, D-1ll
2. A-IV, B-1, C-lil, D-II
3. A-lll, B-11, C-1, D-IV
4. A-lll, B-lI, C-IV, D-I

Options :

92090648125. 1
92090648126. 2
92090648127. 3
92090648128. 4

Question Number : 32 Question Id : 92090612187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ChE & 7Fd %A A Zet 218 n=24dML.

List I List II
AES l. Gift
B. &5 Il. Branded Product
C M= I1l. Product
D. 3% IV. Component

1. A-IV, B-l, C-lI, D-1ll
2. A-IV, B-1, C-lil, D-II
3. A-lll, B-11, C-1, D-IV
4. A-lll, B-lI, C-IV, D-I

Options :

92090648125. 1
92090648126. 2
92090648127. 3
92090648128. 4

Question Number : 32 Question Id : 92090612187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ChE & 7Fd %A A Zet 218 n=24dML.

List I List II
AES l. Gift
B. &5 Il. Branded Product
C M= I1l. Product
D. 3% IV. Component

1. A-IV, B-l, C-lI, D-1ll
2. A-IV, B-1, C-lil, D-II
3. A-lll, B-11, C-1, D-IV
4. A-lll, B-lI, C-IV, D-I

Options :

92090648125. 1
92090648126. 2
92090648127. 3
92090648128. 4

Question Number : 33 Question Id : 92090612188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CtE 5 7He 94| 9238 A8 124dA 2.

List I List II
A MZE l. Input
B. ¢ Il. Insert
C Mz 13 IIl. Save
D. g IV. Refresh

1. A-IV, B-l, C-lI, D-llI
2. A-IV, B-1, C-lIl, D-II
3. A-lll, B-l, C-1, D-IV
4. A-lll, B-lI, C-IV, D-I

Options :

92090648129. 1
92090648130. 2
92090648131. 3
92090648132. 4

Question Number : 33 Question Id : 92090612188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CtE 5 7He 94| 9238 A8 124dA 2.

List I List II
A MZE l. Input
B. ¢ Il. Insert
C Mz 13 IIl. Save
D. g IV. Refresh

1. A-IV, B-l, C-lI, D-llI
2. A-IV, B-1, C-lIl, D-II
3. A-lll, B-l, C-1, D-IV
4. A-lll, B-lI, C-IV, D-I

Options :

92090648129. 1
92090648130. 2
92090648131. 3
92090648132. 4

Question Number : 33 Question Id : 92090612188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CtE 5 7He 94| 9238 A8 124dA 2.

List I List II
A MZE l. Input
B. ¢ Il. Insert
C Mz 13 IIl. Save
D. g IV. Refresh

1. A-IV, B-l, C-lI, D-llI
2. A-IV, B-1, C-lIl, D-II
3. A-lll, B-l, C-1, D-IV
4. A-lll, B-lI, C-IV, D-I

Options :

92090648129. 1
92090648130. 2
92090648131. 3
92090648132. 4

Question Number : 34 Question Id : 92090612189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Che & 7P %A 9238 A8 124M2.

List I List IT

A. Ki A I 7|9 ¥ =Ct

B. A I A2 L2 20| HojM 20| ZX| QC
C. Ip4 . EOFSH= 240 H=rt

D, Al V. X| A8 F2 H=C}

1. A-IV, B-1, C-II, D-lIl
2. A-IV, B-l, C-lll, D-II
3. A-lll, B-lI, C-I, D-IV
4. A-lll, B-lI, C-IV, D-l
Options :
92090648133. 1
92090648134. 2

92090648135. 3
92090648136. 4

Question Number : 34 Question Id : 92090612189 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Che & 7P %A 9238 A8 124M2.

List I List IT

A. Ki A I 7|9 ¥ =Ct

B. A I A2 L2 20| HojM 20| ZX| QC
C. Ip4 . EOFSH= 240 H=rt

D, Al V. X| A8 F2 H=C}

1. A-IV, B-1, C-II, D-lIl
2. A-IV, B-l, C-lll, D-II
3. A-lll, B-lI, C-I, D-IV
4. A-lll, B-lI, C-IV, D-l
Options :
92090648133. 1
92090648134. 2

92090648135. 3
92090648136. 4

Question Number : 34 Question Id : 92090612189 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Che & 7P %A 9238 A8 124M2.

List I List IT

A. Ki A I 7|9 ¥ =Ct

B. A I A2 L2 20| HojM 20| ZX| QC
C. Ip4 . EOFSH= 240 H=rt

D. H4| Iv. |28 F=2 Y0t

1. A-IV, B-l, C-llI, D-llI
2. A-IV, B-l, C-lll, D-II
3. A-lll, B-lI, C-I, D-IV
4. A-lll, B-lI, C-IV, D-l
Options :
92090648133. 1
92090648134. 2

92090648135. 3
92090648136. 4

Question Number : 35 Question Id : 92090612190 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(VO SHE 7S YH2 AS 1=2HAM2.

I:I

TV O 3307} LZE & S|AHO R F 2 ( ) =/2/L H3t7t %ol 2ot

1) 29|35}t
2)  KpM|SHCE
3)  Cro|ch
4)  HOpELf
Options :
92090648137. 1
92090648138. 2

92090648139. 3
92090648140. 4



Question Number : 35 Question Id : 92090612190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
()0l SOE 7S YR2 AE D2HA 2,

TV Off 2307} L2t

ot

S| A HFE ( ) =/2/- =t B0l Lt

1) =95t}
2)  AbMISECE
3)  CrAo|Ch
g  olECt
Options :
92090648137. 1
92090648138. 2

92090648139. 3
92090648140. 4

Question Number : 35 Question Id : 92090612190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(VO SHE 7S YH2 AS 1=2HAM2.

Tv Off 2307} L7t

ot

2Atol MES ( ) =/2/v 3L RB0| ALt

1) 20|50t
2)  AtMISkCt
3)  Cro|ch
g  LojECh
Options :
92090648137. 1
92090648138. 2

92090648139. 3
92090648140. 4

Question Number : 36 Question Id : 92090612191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Cts 28 & REDooj7tH|xet AE D2dA 2.

AR} A A0l BASES At Y2 ME2 U0

1) EHSHAHE

2) gH=g s

3) ©EsH

g #HED
Options :

92090648141. 1
92090648142. 2
92090648143. 3
92090648144. 4

Question Number : 36 Question Id : 92090612191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CtE 2E & REL 07t H|et AE D2HA 2.

I LA Aol SHStE§ At HS HEZ FUCH

1) 2HSAHE
0O

2) JEsb-lgl e,

3) ©AE5H

4)  gHs5iH1
Options :

92090648141. 1
92090648142. 2
92090648143. 3
92090648144. 4

Question Number : 36 Question Id : 92090612191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Cts 28 & REN o7t H|et AE D2d A2,

77 QA ARl BASES AT TS HEZ FUCH

1) ®HotH=

2) EHEOUF

3) EH5M

4) Aol
Options :

92090648141. 1
92090648142. 2
92090648143. 3
92090648144. 4

Question Number : 37 Question Id : 92090612192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CtS& H( ol E0|Z iS22 7P Y2 S n2dA 2.
LIEE2 182, A 2e 208 S3( ). LIEEO FE&E2 2859
HFE S0t A2 1 HEo[tt. x| 2 LLEEES 22| 2H[o & Easith f2|
UM e =E AU 28 =8, 2] 5 5 42| 7St BAH L 7| 2 0|C

1) X=ete o =t Aok
2) o 5 U R YROI
3) Yol FHoz Zeict
4 |YHE YKo 2 BHolct
Options :

92090648145. 1
92090648146. 2
92090648147. 3
92090648148. 4

Question Number : 37 Question Id : 92090612192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Cte2 HI( )l SO{E {822 7P W2 AS D=2dAR.

1)  XNZoh= o 232t [l

2)  olgE 4 Us Y Mro|T

3) Yedl=FHoez E8h

4)  FESH= N0 FaT S Ho|C
Options :

92090648145. 1
92090648146. 2
92090648147. 3
92090648148. 4

Question Number : 37 Question Id : 92090612192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CtE2 3| ol SOIF 822 7 P2 28 22442,
LIEE2 1Y, A He 20SS S3( ). LIEEO FdE 259
HF & S0j0Fst= 212 1 WZ0ICE SHAE LLEFE 22| 20 & ZRoith 22
oM A =3, AU 2 =3, 25 5 5 42 7|t A7t 17| = 0|t

1) XN Z5h= o Za2t A

2)  olgE S U Y MRoI

3) Yed|l=FHo=z Zolnt

4)  FESI= N0 FaiT S oI
Options :

92090648145. 1
92090648146. 2
92090648147. 3
92090648148. 4

Question Number : 38 Question Id : 92090612193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks :

1
CtE 5 7HE %9 93¢ 28 n2dA 2.

List I List II
A ojel . ZAL0| CtL= AtE
B. X&¢l Il. §AHE St= AHE
C. 3 . SZHIA OjOi & =2t =28
Are
D. &2l
Iv. 7=, Bl 2, 2HE &

1. A-IV, B-1, C-lI, D=l
2. A-lV, B-1, C-lIl, D-II
3. A-lll, B-11, C-1, D-IV
4. A-lll, B-lI, C-IV, D-I

Options :

92090648149. 1
92090648150. 2
92090648151. 3
92090648152. 4

Question Number : 38 Question Id : 92090612193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ChE 5 718 %A A28 248 124A 2.

List I List II
A. ool I A L= At
B. &I IIl. ZAHE St= At
C. =742l . E7t0|M OHOHE =2tF1 ==& 2H
Apgt
D. &9l
IV. 7t B2, HBE &

1. A-IV, B-1, C-lI, DI
2. A-1V, B-1, C-lll, D-lI
3. Al B-11, €1, D-1V
4. A-lll, B-1I, C-IV, D-I

Options :

92090648149. 1
92090648150. 2
92090648151. 3
92090648152. 4

Question Number : 38 Question Id : 92090612193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ChE 5 718 %A A28 248 124A 2.

List I List II
A. ool I A L= At
B. =0l IIl. ZAHE St= At
C. =742l . S7H0|M OO E =21 =28 24
Abgt
D. &9l
IV. 7t B2, HBE &

1. A-IV, B-1, C-lI, DI
2. A-1V, B-1, C-lll, D-lI
3. Al B-11, €1, D-1V
4. A-lll, B-1I, C-IV, D-I

Options :

92090648149. 1
92090648150. 2
92090648151. 3
92090648152. 4

Question Number : 39 Question Id : 92090612194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ct2 sHXlojo] Yot 2 HH2 124A 2.

£H

1) Bx
2) O=
3) =
4 M3
Options :

92090648153. 1
92090648154. 2



92090648155. 3
92090648156. 4

Question Number : 39 Question Id : 92090612194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

C2 sHXloje] Yot 32 HEHE n24A 2.

£

1) B=
2) 0=
3) ==
4) M=
Options :
92090648153. 1
92090648154. 2

92090648155. 3
92090648156. 4

Question Number : 39 Question Id : 92090612194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ct= sHXlojo] YU 2 BHHE2 D24A 2.

H

1) B=
2) 0=
3) ==
4 H=Z
Options :
92090648153. 1
92090648154. 2

92090648155. 3
92090648156. 4



Question Number : 40 Question Id : 92090612195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ct= stxjole]| Y2 o= HHS 12HAR.

ae] B

>

w
e m re re
i 44 o=

Options :

92090648157. 1
92090648158. 2
92090648159. 3
92090648160. 4

Question Number : 40 Question Id : 92090612195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ct= stxjole]| Y2 8= BEHES 12HA 2.

It
[]

>

w
e W re re
i 4 oz

Options :

92090648157. 1
92090648158. 2
92090648159. 3
92090648160. 4



Question Number : 40 Question Id : 92090612195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHS eHxtoje] Y2 312 HES 12HA 2.

ae] B

>

w
o My re roe
I 44 ox

Options :

92090648157. 1
92090648158. 2
92090648159. 3
92090648160. 4

Question Number : 41 Question Id : 92090612196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ct2 HXloje] Yot 2 HEH2 n24A 2.

RHEE

o e
o= o o
(B S A
M o™ Ao

&
ok
i
o

Options :

92090648161. 1
92090648162. 2
92090648163. 3
92090648164. 4

Question Number : 41 Question Id : 92090612196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Ct2 sHXlojo] YU 2 HH2 D24A 2.

KHAE]

1) HI|E
2) 7|
3) At
4) =4
Options :

92090648161. 1
92090648162. 2
92090648163. 3
92090648164. 4

Question Number : 41 Question Id : 92090612196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ct2 HXlojo] Yot 3 HHE 124A 2.

KHE]

1) 272
2) g7\
3) &7
4) =4
Options :

92090648161. 1
92090648162. 2
92090648163. 3
92090648164. 4

Question Number : 42 Question Id : 92090612197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CtS gt= THojo] Y2 BRI § n2dA L.

7t

1) AKIK
2 A=
3) AR
4 SR

Options :

92090648165. 1
92090648166. 2
92090648167. 3
92090648168. 4

Question Number : 42 Question Id : 92090612197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ct= gt= THoje] S B0 § n2dA L.

CH7ts

1) ARk
2 XM
3) RE¥
4 =G

Options :

92090648165. 1
92090648166. 2
92090648167. 3
92090648168. 4

Question Number : 42 Question Id : 92090612197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CtS gt= THojo] Y2 BRI § n2dA L.

7t

1) AKIK
2 A=
3) AR
4 SR

Options :

92090648165. 1
92090648166. 2
92090648167. 3
92090648168. 4

Question Number : 43 Question Id : 92090612198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ChE AMXRE02] St o2 58S D242,

=]

2
e me ne
4 4 on x
o O

8 =8 9.0

1= re ne B

e

4)
Options :
92090648169. 1
92090648170. 2
92090648171. 3
92090648172. 4

Question Number : 43 Question Id : 92090612198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CI2 AHXHdojo Yot2 32 BEEHE 124A 2.

—N=%&

1) YH40|x
2) 40|
3) Y+0|A
4) 70[4
Options :

92090648169. 1
92090648170. 2
92090648171. 3
92090648172. 4

Question Number : 43 Question Id : 92090612198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHS AtXHolo] USi2 B2 BEE n2HA L.

(=]

2
ne me ne
4 4 o x
o O

8 2 9.5

= re ne M

e

4)
Options :
92090648169. 1
92090648170. 2
92090648171. 3
92090648172. 4

Question Number : 44 Question Id : 92090612199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CtE AHRHE0|2] Y52 BXtolE 12dAl2.

-

== O
@EWE

) BPEB
2) TPk
3 RAAMIL
s RBEAIL

Options :

92090648173. 1
92090648174. 2
92090648175. 3
92090648176. 4

Question Number : 44 Question Id : 92090612199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHS AMXHEOo{o] 2ot2 BHAt0jE N2dA 2.

-

=0
OI_-IE'ITE

) BPEE
2) TPk
3 RAAMIL
4 EEAIL

Options :

92090648173. 1
92090648174. 2
92090648175. 3
92090648176. 4

Question Number : 44 Question Id : 92090612199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CtE AHRHE0|2] Y52 BXtolE 12dAl2.

-

=0
OI_IIE'ITE

) BPEB
2) TPk
3 RAAMIL
s RBEAIL

Options :

92090648173. 1
92090648174. 2
92090648175. 3
92090648176. 4

Question Number : 45 Question Id : 92090612200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CtE AFXHE0je] HE2 2 D2HAL.

EIRES

1) Chinese year celebration
2) Aspiration for freedom
3) Chinese zodiac calendar

4) Same bed different dreams

Options :

92090648177. 1
92090648178. 2
92090648179. 3
92090648180. 4

Question Number : 45 Question Id : 92090612200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CtE APRHE0{e] Y2 X8 12HA L.

EIRES

1) Chinese year celebration
2) Aspiration for freedom
3) Chinese zodiac calendar

4) Same bed different dreams

Options :

92090648177. 1
92090648178. 2
92090648179. 3
92090648180. 4

Question Number : 45 Question Id : 92090612200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CtE AFXHE0je] HE2 2 D2HAL.

EIRES

1) Chinese year celebration

2) Aspiration for freedom

3) Chinese zodiac calendar

4) Same bed different dreams

Options :

92090648177. 1
92090648178. 2
92090648179. 3
92090648180. 4

Question Number : 46 Question Id : 92090612201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Chg BRtole] YUS £ D2AAL.
BCE

1) Automobile
2) Reporter
3) Night bus

4) Vacuum cleaner

Options :

92090648181. 1
92090648182. 2
92090648183. 3
92090648184. 4

Question Number : 46 Question Id : 92090612201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CtS eHxjole] ES2 28 n2dA L.

Ee=]

1) Automobile
2) Reporter
3) Night bus

4) Vacuum cleaner

Options :

92090648181. 1
92090648182. 2
92090648183. 3
92090648184. 4

Question Number : 46 Question Id : 92090612201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Chg BRtole] YUS £ D2AAL.
BCE

1) Automobile
2) Reporter
3) Night bus

4) Vacuum cleaner

Options :

92090648181. 1
92090648182. 2
92090648183. 3
92090648184. 4

Question Number : 47 Question Id : 92090612202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ChS THofo] Y2 =2 12dA2.

£t

==

1) School Annual Meet
2) MT

3) School Sports Meet
4) Conference

Options :

92090648185. 1
92090648186. 2
92090648187. 3
92090648188. 4

Question Number : 47 Question Id : 92090612202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Chs THolo] Yst2 28 124Al2.

i

=Lz

1) School Annual Meet
2) MT

3) School Sports Meet
4) Conference

Options :

92090648185. 1
92090648186. 2
92090648187. 3
92090648188. 4

Question Number : 47 Question Id : 92090612202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Chs THojo] S22 K2 R2HA 2.

B

=Ll=|

1) School Annual Meet
2) MT

3) School Sports Meet
4) Conference

Options :

92090648185. 1
92090648186. 2
92090648187. 3
92090648188. 4

Question Number : 48 Question Id : 92090612203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CI22 Y 7p& ¥oe 252 n2dAe.

o2 EL HE Hj7} 22fof B

ol
1L
o

ZHH = r_|-

e

..,.
M

1) M & 8 & SIHA| ZHTh
2) BLME 4
3 A8l
4) FHM 9 97|
Options :
92090648189. 1
92090648190. 2

92090648191. 3
92090648192. 4

Question Number : 48 Question Id : 92090612203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CI22 Y0 7pE Y2 52 12402,

oj2a| S U Hj7} 22jof B

gl
a2
mo

9 =t

..,.
M

1) M & 8 HE {=IHA] ZHTt
2) BLME 4P
3) AgeH
5 UM T 27|
Options :
92090648189. 1
92090648190. 2

92090648191. 3
92090648192. 4

Question Number : 48 Question Id : 92090612203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CI22 Y 7p& ¥oe 252 n2dAe.

Otfel 2 A= Hi7t S2{0F &

H
o=
o

ZtA| =ICH

e

..,.
M

1) M & & B8R ST 2t
2) BUME AT
3 239 H
4 SN E 27|
Options :
92090648189. 1
92090648190. 2

92090648191. 3
92090648192. 4

Question Number : 49 Question Id : 92090612204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHE HEHo| 22 £2 124UA 2.

-l

1) Birds

2) Harmony

3) Natural

4) Appetite
Options :
92090648193. 1
92090648194. 2

92090648195. 3
92090648196. 4

Question Number : 49 Question Id : 92090612204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Che B ¥%2 X8 1242,

1) Birds

2) Harmony
3) Natural

4) Appetite

Options :

92090648193. 1
92090648194. 2
92090648195. 3
92090648196. 4

Question Number : 49 Question Id : 92090612204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Che B ¥%2 X8 124dA|2,

-1

1) Birds

2) Harmony

3) Natural

4) Appetite
Options :
92090648193. 1
92090648194. 2

92090648195. 3
92090648196. 4

Question Number : 50 Question Id : 92090612205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ChE 289 ¥%2 X8 12dA2.

28

1) Aptitude
2) Mother's House
3) Mother's Restaurant
4) Recruitment
Options :
92090648197. 1
92090648198. 2
92090648199. 3
92090648200. 4

Question Number : 50 Question Id : 92090612205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ChE 289 ¥%2 X8 12dA2.

23

1) Aptitude
2) Mother's House
3) Mother's Restaurant
4) Recruitment
Options :
92090648197. 1
92090648198. 2

92090648199. 3
92090648200. 4

Question Number : 50 Question Id : 92090612205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ChE 289 ¥%2 X8 12dA2.

28

1) Aptitude

2) Mother's House

3) Mother's Restaurant

4) Recruitment
Options :
92090648197. 1
92090648198. 2

92090648199. 3
92090648200. 4

Question Number : 51 Question Id : 92090612206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ct= BEo Y2 X8 12HdA2.

2l

1) Causal Relationship
2) Casual Relationship
3) Human Relationship
4) Personal Relationship

Options :

92090648201. 1
92090648202. 2
92090648203. 3
92090648204. 4

Question Number : 51 Question Id : 92090612206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIS B8O ¥ =2 12402,

el g

.|

1) Causal Relationship
2) Casual Relationship
3) Human Relationship
4) Personal Relationship

Options :

92090648201. 1
92090648202. 2
92090648203. 3
92090648204. 4

Question Number : 51 Question Id : 92090612206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CtE BEEo ¥U2 X5 1=24HA L.

ol

F2tA

=

1) Causal Relationship
2) Casual Relationship
3) Human Relationship
4) Personal Relationship

Options :

92090648201. 1
92090648202. 2
92090648203. 3
92090648204. 4

Question Number : 52 Question Id : 92090612207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol S0{E EH2 XS 12U,

A& 7185t7| 2lst0] M8

ot

£

rot

o dEs HE,

ragt
Ok
rot

= EEE( )OI Ct.

r

1) 313
2) 224
3) WHE
4 HBHE

Options :

92090648205. 1
92090648206. 2
92090648207. 3
92090648208. 4

Question Number : 52 Question Id : 92090612207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) Ol S0{ZE L2 UE D242,
oh=o| BE M8 SXEo A8 7|49517| 251 HEet 38 L )O| CF,

1) 313
2) 224
3) WHE
4 HBHE

Options :

92090648205. 1
92090648206. 2
92090648207. 3
92090648208. 4

Question Number : 52 Question Id : 92090612207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol S0{E EH2 XS 12U,

ot

2ot A8 71'85h7| floto] APget B8 2( )OI Ct.

rot
rot

o dEs HE,

ret

OH
"

1) 313
2) 354
3) HHE
4 H3H
Options :
92090648205. 1
92090648206. 2

92090648207. 3
92090648208. 4

Question Number : 53 Question Id : 92090612208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ZHE YOk HE nEAMAR.

ArBILt £ S0 J]50| TEE =

rr
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iyl
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nx
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oot

1) 243t
2) L™lT}
3) &%
4) Syt
Options :
92090648209. 1
92090648210. 2

92090648211. 3
92090648212. 4

Question Number : 53 Question Id : 92090612208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ZHE YOk HE nEAMAR.

1) M43
2) LE@%}
3 &%
4) %}
Options :
92090648209. 1
92090648210. 2

92090648211. 3
92090648212. 4

Question Number : 53 Question Id : 92090612208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7hE g% AE 2.

NIt 25 So| 7)50| S £ 128 7|58 W .

1) 243t
2) 23}
3) &%
4) &zt
Options :
92090648209. 1
92090648210. 2

92090648211. 3
92090648212. 4

Question Number : 54 Question Id : 92090612209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7P gE2 AE 12HAR.

h52 9202 BY HWHMO| o 5 2| A% QUAHS 90| OfLYe} Ofo| Bt
ddoz gotg vy,

1) S42| oft
2) 7|2{2| Of bt
3) A OFbt
4) 1Z0| O
Options :
92090648213. 1
92090648214. 2

92090648215. 3
92090648216. 4

Question Number : 54 Question Id : 92090612209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7hg ¥R AS 2.

hEe QR0 BY WHO| O g 20| A QUAHMES Q0| OfLYQ} 00| Tt
dgoz 982 Bl

1) S==2| Ofue
2) 21217 Ot
3) &AM Ot

4) 1Y0| O

Options :

92090648213. 1
92090648214. 2
92090648215. 3
92090648216. 4

Question Number : 54 Question Id : 92090612209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7P gE2 AE 12HAR.

h52 9202 BY HWHMO| o 5 2| A% QUAHS 90| OfLYe} Ofo| Bt
ddoz gotg vy,

1) S42| oft
2) 7|2{2| Of bt
3) A OFbt
4) 1Z0| O
Options :
92090648213. 1
92090648214. 2

92090648215. 3
92090648216. 4

Question Number : 55 Question Id : 92090612210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7hE U2 HE D2HAL.

74210] ZHEFSH &A= =

o=
B4 1o
e =
Mn ou rin

B W
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M »E

Options :

92090648217. 1
92090648218. 2
92090648219. 3
92090648220. 4

Question Number : 55 Question Id : 92090612210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HE gue AHE n2iAe.

4210] ZpE S A= =,
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B ore
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rn
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Options :

92090648217. 1
92090648218. 2
92090648219. 3
92090648220. 4

Question Number : 55 Question Id : 92090612210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Mg gRe AS n24dAR.

74 210] ZHEFSH A= =,

re
2

Pt
o
M od rin

3) Ml
=

b
00

Options :

92090648217. 1
92090648218. 2
92090648219. 3
92090648220. 4

Question Number : 56 Question Id : 92090612211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mg g2 AS D22,

AlO{Li2t B =2] AOJOAM O 7HX] 2| Xt0|2 HojLt= OiEi §5.
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o
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Options :

92090648221. 1
92090648222. 2
92090648223. 3
92090648224. 4

Question Number : 56 Question Id : 92090612211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7hd AU2 AE n2HAL.

ALt 2] AOJoAM O3 7HA] 2| Xto]= ZoLt= Ol S5

=

n
o
9 ™41 2

o > N oM
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Options :

92090648221. 1
92090648222. 2
92090648223. 3
92090648224. 4

Question Number : 56 Question Id : 92090612211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mg g2 AS D22,

AlO{Li2t B =2] AOJOAM O 7HX] 2| Xt0|2 HojLt= OiEi §5.

F .

wo
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o > N oM
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Options :

92090648221. 1
92090648222. 2
92090648223. 3
92090648224. 4

Question Number : 57 Question Id : 92090612212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7t g2 AS 124 2.

A A, BHH CHE Lete] X[HE A =0 222 A2 =& 4 Lt

oz
2

1)
2)
3)
4)
Options :
92090648225. 1
92090648226. 2

92090648227. 3
92090648228. 4
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Question Number : 57 Question Id : 92090612212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ThE o2 AHE N24AL.

AN, FHH CHE Lete] X[HE A =0 222 M2 =& 4T Lt

0z
2

1)
2)
3)
4)
Options :
92090648225. 1
92090648226. 2

92090648227. 3
92090648228. 4
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Question Number : 57 Question Id : 92090612212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7HE Lo2 AS D2HAR.

AR, BHH CHE Lete] A[HE A =0 I7t=A e FHE 4T Lt

1)
2)
3)
4)

Ao
TE
AlDIx]
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Options :

92090648225. 1
92090648226. 2
92090648227. 3
92090648228. 4

Question Number : 58 Question Id : 92090612213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7hE Y2 ZHE n2AAR.
AtZ|9] 2 & MEO] UM Z4212] 7HX| & EFoI= EfE.

1) i
2) YUFF2
3) &2

4) H=zF9|
Options :
92090648229. 1
92090648230. 2

92090648231. 3
92090648232. 4

Question Number : 58 Question Id : 92090612213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7hg g AE 2HAR.

AZlel & M=o AN A 2§212| 7HXE EFOl= Bl

1) 7§29
2) Qo)
3) 3iFE9
4) H==2
Options :

92090648229. 1
92090648230. 2
92090648231. 3
92090648232. 4

Question Number : 58 Question Id : 92090612213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7hE Y2 ZHE n2AAR.
AtZ|9] 2 & MEO] UM Z4212] 7HX| & EFoI= EfE.

1) i
2) PIFEF
3) &2

4) H=zF9|
Options :
92090648229. 1
92090648230. 2

92090648231. 3
92090648232. 4

Question Number : 59 Question Id : 92090612214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7hd g AE 2.

A AFHD HMA R vtE £ 0 XA 2ojL= 2| 20[L 2IM &

HgHo=Z 0|2 2.

K

1)
2)
3)
4)

g

off ok Of of

b

Options :

92090648233.
92090648234.
92090648235.
92090648236.

AW N —

Question Number : 59 Question Id : 92090612214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7Hg g2 A4S 1242,

Al AHD AN R BtE. = 0 MXHA 2ofL= 2| 20[Lt ZIM &

ROz 0|2t

2

1)
2)
3)
4)
Options :
92090648233. 1
92090648234. 2

92090648235. 3
92090648236. 4
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Question Number : 59 Question Id : 92090612214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7 A2 HE DN2HAL.

Al AEHD HMA R BtEL £ 0 M 2ofLt= 2| 20[Lt Z[M &

HeMoz oj2L o

i

1)
2)
3)
4)
Options :
92090648233. 1
92090648234. 2

92090648235. 3
92090648236. 4

2 e
o ot ot of

b

Question Number : 60 Question Id : 92090612215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g g2 AS 12HAR.

1) ROAE
2) e
3) 2N
4) Eae|
Options :
92090648237. 1
92090648238. 2

92090648239. 3
92090648240. 4

Question Number : 60 Question Id : 92090612215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7 Y2 AE D1E2HAR.

L, &

oln

73w

rr

M=& CHE Ate YoM Aot AR = A

1) FOAE
2) wefAbE
3) BI|AHE
4) Tag

Options :

92090648237. 1
92090648238. 2
92090648239. 3
92090648240. 4

Question Number : 60 Question Id : 92090612215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g g2 AS 12HAR.

1) ROAE
2) e
3) 2N
4) Eae|
Options :
92090648237. 1
92090648238. 2

92090648239. 3
92090648240. 4

Question Number : 61 Question Id : 92090612216 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7hE g2 AE D2HAR.

220 = 230|L HI 82 Ol=2E &

It

ot
ah 4> 4 5

o
e

Options :

92090648241.
92090648242,
92090648243.
92090648244.

AW NN~

Question Number : 61 Question Id : 92090612216 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



THE dore HE nEAAL.

220 &= 230|H HI8E Ol=2& &

-

) &
2) B
3)
4)
Options :
92090648241.
92090648242.

92090648243.
92090648244.

TR

e

AW N =

Question Number : 61 Question Id : 92090612216 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7he LU2 AE D2HAR.

220 == 230lL B 82 0l &

riot

2) BF
3)

4)
Options :
92090648241.
92090648242.
92090648243.
92090648244.

o

re mx

AW N~

Question Number : 62 Question Id : 92090612217 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HE g2 AE 1242,

Lto[7F B2 el+12] H|20] HO0HX|= .

Lo

1) =33}
2) Mzt
3) 1L}0|
4) 23t
Options :
92090648245. 1
92090648246. 2

92090648247. 3
92090648248. 4

Question Number : 62 Question Id : 92090612217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7hg g2 AS n24A L.

Lto[ 7t B2 Ql412] H|E0] =O0HX|= 4.

(&=

1) L")
2) SN =t
3) 1Lto|
4) 23t
Options :
92090648245. 1
92090648246. 2

92090648247. 3
92090648248. 4

Question Number : 62 Question Id : 92090612217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HE g2 AE 1242,

Lto[7F B2 el+12] H|20] HO0HX|= .

Lo

1) =33}

2) Mzt

3) 1L}o|

4) 23t
Options :
92090648245. 1
92090648246. 2

92090648247. 3
92090648248. 4

Question Number : 63 Question Id : 92090612218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e L2 A4S 12dA L.

MO e £ &1 fs 220 48 s8N &

o

=3 3o

i

rn
m
Ly

[=]
5

=

o
-
<=

2

I
of o | nid
LI
e

&
oy mm
lhs
=

Options :

92090648249. 1
92090648250. 2
92090648251. 3
92090648252. 4

Question Number : 63 Question Id : 92090612218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7HE YOk HE N2AMA 2,

AZIO] B £2 B3I €2 2|0 WY SN 52 X1 L7

T
4
wllf

m
n

i
o

Lo
=

o O B Mo
]

&
oy m
)
=

Options :

92090648249. 1
92090648250. 2
92090648251. 3
92090648252. 4

Question Number : 63 Question Id : 92090612218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7hE €% AE 12

AbRHO| B 2 F3 §1g J2|0f WY 5PN £2 2D

Miju
4
i

m
iu|

Lo
R =

o O B Mo
oo

=

&
oy um
>
=

Options :

92090648249. 1
92090648250. 2
92090648251. 3
92090648252. 4

Question Number : 64 Question Id : 92090612219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



JHE Yoe HE nE2AAR,

& 0|&o B 7l20 2oVt £l= B2 Ol B

-

E

rn

X
=]

L=

-l

™
0zt

L=

-l

k>

L=

I
e
(]
—
il

Options :

92090648253. 1
92090648254. 2
92090648255. 3
92090648256. 4

Question Number : 64 Question Id : 92090612219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7hE g AE 2R,

& 0|&o B 7l20 2oVt £l= B2 Ol B

-

E

rn

X
=]

L=

-l

™
0zt

L=

-l

k>

L=

I
e

(]
—
il

Options :

92090648253. 1
92090648254. 2
92090648255. 3
92090648256. 4

Question Number : 64 Question Id : 92090612219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



JHE Yoe HE nE2AAR,

& 0|&o B 7l20 2oVt £l= B2 Ol B

-

s

rn

X
=]

L=

-l

S
0zt

L=

k>

-l

L=

I
e

(]
—
il

Options :

92090648253. 1
92090648254. 2
92090648255. 3
92090648256. 4

Question Number : 65 Question Id : 92090612220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) ol E0{E 71 Yo2 AS 12442,
( oll= ntE{el= UekE MTChe WE0|0)
1) FS4%
2) 72t M
3) Chatist
4) 22439
Options :

92090648257. 1
92090648258. 2
92090648259. 3
92090648260. 4

Question Number : 65 Question Id : 92090612220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol S0{Z 7 Y2 AE 12HM L.

( o= 2+e{ets LetE M= W80
1) FS%t
2) 72t M
3 Erzdlst
4) 2243
Options :

92090648257. 1
92090648258. 2
92090648259. 3
92090648260. 4

Question Number : 65 Question Id : 92090612220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) Ol S0 71 Y2 AS 124A 2.
( )0l= et LiekE M B Che= W&Eo|ct
1) FSHF
2) Zief= %}
3 Ebdis)
4) 24zt
Options :

92090648257. 1
92090648258. 2
92090648259. 3
92090648260. 4

Question Number : 66 Question Id : 92090612221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol E0{E 7P Y2 S 12N

( A= FC150| OleiM HtE2= 22 S%iceL, B 252 201510
20iE S 20| =|ALC}.
1) X172}

2) i

3) 24z

4 Bd&H
Options :
92090648261. 1
92090648262. 2

92090648263. 3
92090648264. 4

Question Number : 66 Question Id : 92090612221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Ol S0E 718 g% 2 S n2HA 2.

( 0lM = F2Z0| oj2{A Hi22t= 22 SUeYy

1) 7X17}
2) "LugE=s
3) 243
4) 823
Options :
92090648261. 1
92090648262. 2

92090648263. 3
92090648264. 4

Question Number : 66 Question Id : 92090612221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol E0{E 7P Y2 S 12N

( A= FC150| OleiM HtE2= 22 S%iceL, B 252 201510
20iE S 20| =|ALC}.
1) X172}

2) i

3) 24z

4 Bd&H
Options :
92090648261. 1
92090648262. 2

92090648263. 3
92090648264. 4

Question Number : 67 Question Id : 92090612222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Ol S0E 718 g% 2 S n2HA 2.

T2 2452 ( ) 282 FoMEe HE2 = N0 g AgE
EOt 2 RALE,

1) g
2) o]
3) 18
4) =i
Options :

92090648265. 1
92090648266. 2
92090648267. 3
92090648268. 4

Question Number : 67 Question Id : 92090612222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol E0{E 7P Y2 S 12N

FEE2 2485 ( ) AHE HIMHE RHECR YN F 0 it X|E2
SOt QAL

won =
rH kI 2 Ax
r o rQ

|

m
— —

Options :

92090648265. 1
92090648266. 2
92090648267. 3
92090648268. 4

Question Number : 67 Question Id : 92090612222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Ol S0{E 718 Eo2 AS n2HA 2.

FE2 245 ( ) 28z EIMe HEo = NS0 gt AgE
EOHL 2 QAL

woN =
rH k2 Ar
rx o ro

-~

m
— —

Options :

92090648265. 1
92090648266. 2
92090648267. 3
92090648268. 4

Question Number : 68 Question Id : 92090612223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
( ) Ol S0{E 7 Y2 ASE 12HM 2.

Options :

92090648269. 1
92090648270. 2
92090648271. 3
92090648272. 4

Question Number : 68 Question Id : 92090612223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Ol S0{E 7 Y2 ASE 12HM 2.

Options :

92090648269. 1
92090648270. 2
92090648271. 3
92090648272. 4

Question Number : 68 Question Id : 92090612223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol E0{E 7 Y2 ASE 12HM 2.

( 2| Zot= EHO|Ct

Options :

92090648269. 1
92090648270. 2
92090648271. 3
92090648272. 4

Question Number : 69 Question Id : 92090612224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Ol E0{E 7 Y2 AE D2HM L.

( )'e| E7t= 0| 2% o|C},

Options :

92090648273. 1
92090648274. 2
92090648275. 3
92090648276. 4

Question Number : 69 Question Id : 92090612224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol E0{E 7 Y2 AE D2HM L.

( )'e| E7t= 0| 2% o|C},

Options :

92090648273. 1
92090648274. 2
92090648275. 3
92090648276. 4

Question Number : 69 Question Id : 92090612224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Ol SO{Z 7H Y2 AS D2dA L.

‘2| 7t= 0| 2AZ[0|Ct.

—

—
S

L A .
Mo of Lo
= oA
i

B
fLul
JE
r
=

Options :

92090648273. 1
92090648274. 2
92090648275. 3
92090648276. 4

Question Number : 70 Question Id : 92090612225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol E0{Z 7 Y2 S 12HAM L.

2| 7| 28 J120oM 2o 28 THyat J|HY EdE JHE

(
HojFs ZEez AR vazt?|' & & 5 UL

1) 89
2) &2
3) &4

4 Y44

Options :

92090648277. 1
92090648278. 2
92090648279. 3
92090648280. 4

Question Number : 70 Question Id : 92090612225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Ol S0IE 71 Y2 AS D=2,

8| Z=7| &8 7120l 2o 285 Teat J|HE EdE HE E

(
HOjFs 32z @At vjugtr|'§ & = UL

1) =9
2) ds2
3) 459

4 Y44

Options :

92090648277. 1
92090648278. 2
92090648279. 3
92090648280. 4

Question Number : 70 Question Id : 92090612225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol E0{Z 7 Y2 S 12HAM L.

2| 7| 28 J120oM 2o 28 THyat J|HY EdE JHE

(
HojFs ZEez AR vazt?|' & & 5 UL

1) #4859
2) H&Ee
3 H&9
4) Ay
Options :
92090648277. 1
92090648278. 2

92090648279. 3
92090648280. 4

Question Number : 71 Question Id : 92090612226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Ol S0iE 712 YU2 28 D242,

) (1922) S=

&
Soff A|Aelel 3t ANHE gIZdE BUFHUM 272N 2| 2ldS AT 2UL

r
i
rio
L
Ho
O
A
Jot
I
rH
el3
o Ir
e
b
o
g
[
ot
-
1]
i

1) &4

4 1%
Options :
92090648281. 1
92090648282. 2
92090648283. 3
92090648284. 4

Question Number : 71 Question Id : 92090612226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol E0{FE 71 ¥H2 AS 12dA L.

SHEIAZ 31 28 2F: 'a Aste AE (1921), 'BIA (1921), ( ) (1922) 52
H

Soff AlAelel =Ent FHH gZgE BENFUM EHIIZM2| 2ldS AT RUCL

4) 1Y
Options :
92090648281. 1
92090648282. 2
92090648283. 3
92090648284. 4

Question Number : 71 Question Id : 92090612226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Ol S0{FE 7 EH2 AS 12442

HEIHE 31 28 Ez ‘s AHSI= AL (1921), 'BIA (1921), | ) (1922) 58

Soff AlAelel =Ent FHH gEZdE BENFUM ZHIIZAM2| 2ldS AZE UL

4) g
Options :
92090648281. 1
92090648282. 2
92090648283. 3
92090648284. 4

Question Number : 72 Question Id : 92090612227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) ol E01E 71 2 28 124A L.

Options :

92090648285. 1
92090648286. 2
92090648287. 3
92090648288. 4

Question Number : 72 Question Id : 92090612227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( YOl EE 7HE Y32 A2 124N L.
( Q| EI7t= YarHo|ct

1) & CH

2) HX}

Options :

92090648285. 1
92090648286. 2
92090648287. 3
92090648288. 4

Question Number : 72 Question Id : 92090612227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) ol E01E 71 2 28 124A L.

Options :

92090648285. 1
92090648286. 2
92090648287. 3
92090648288. 4

Question Number : 73 Question Id : 92090612228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ct= 5 71 2 |3 28 124dA 2.

List I List II
A O}2 2 g} |. O[3HSFCt
B. O20| E8}C} Il. S5}t
C. Ot=20f| Sc} . 245k
D. Or=20| & 3}C} IV. ZO}sHCt

1. A-IV, B-I, C-II, D-lI
2. A-IV, B-1, C-lII, D-II
3. A-lll, B-1, C-1V, D-II
4. A-lll, B-1l, C-1V, D-l
Options :
92090648289. 1
92090648290. 2

92090648291. 3
92090648292. 4




Question Number : 73 Question Id : 92090612228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ChE 5 71 2 |Zet 28 124dA 2.

List I List II
A. OI22 9L} |. OfHSHCE
B. O}=20| E3}C} Il. 25ICt
C. 020 Sc} . 25t
D. O}2 0| 2= 3iC} IV. &O}5HCE

1. A-IV, B-I, C-II, D-lI
2. A-IV, B-1, C-llI, D-II
3. A-lll, B-1, C-1V, D-II
4. A-lll, B-1l, C-IV, D-I
Options :
92090648289. 1
92090648290. 2

92090648291. 3
92090648292. 4

Question Number : 73 Question Id : 92090612228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ch= 5 71 27 @3 28 124dA 2.

List I

List II

A. Or2 2 9}

B. OFZ0| SotCt

C. Or20of £t

D. Or20| 2H3}Ct

|. OlSHSCt

Il. L25Ct

. 2 sttt

Iv. Z0}stICt

1. A-IV, B-I, C-lI, D-II
2. A-IV, B-1, C-llI, D-II
3. A-lll, B-1, C-IV, D-II
4. A-lll, B-1l, C-IV, D-I
Options :
92090648289. 1
92090648290. 2

92090648291. 3
92090648292. 4

Question Number : 74 Question Id : 92090612229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1




ChE 5 7 %7 @Zst AS 124HA 2.

List I List II
E L 28 7|To| YN S YW 7|7 SO B
CHESo &= Ha
5 3 I Bt Nelol S 3] m:w A% 7|2t

c®3 Il 233} 0|24 BA £
D. 9123 V. QS A ofol 2lstol 2Wo|Lt 2HZ wHlof
EB WY

1. A-IV, B-ll, C-I, D-llI
2. A-IV, B-l, C-lll, D-II
3. A-l, B-ll, C-IV, D-lil
4. A-ll, B-lll, C-IV, D-I
Options :
92090648293. 1
92090648294. 2

92090648295. 3
92090648296. 4

Question Number : 74 Question Id : 92090612229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ChE 5 7 %7 @Zst AS 124HA 2.

List I List II
E L 28 7|To| YN S YW 7|7 SO B
CHESo &= Ha
5 3 I Bt Nelol S 3] m:w A% 7|2t

c®3 Il 233} 0|24 BA £
D. 9123 V. QS A ofol 2lstol 2Wo|Lt 2HZ wHlof
EB WY

1. A-IV, B-ll, C-I, D-llI
2. A-IV, B-l, C-lll, D-II
3. A-l, B-ll, C-IV, D-lil
4. A-ll, B-lll, C-IV, D-I
Options :
92090648293. 1
92090648294. 2

92090648295. 3
92090648296. 4

Question Number : 74 Question Id : 92090612229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ChE 5 7 %7 @Zst AS 124HA 2.

List I List II
E L 28 7IBo| 2F FAe YW 7|7 SO 2ol
chg o) F= M2
5 3 I 27pLt AbS|0| S 227} AL Y 7|2
S2t =27 7| 0| 5o AFROA SioiC F= =

c =Mz . @53 OJAHE &H =

| —

D. #1213 V. QS Aol 2lsto 2oLt 2H T w2lof
Eg Wt Y

1. A-IV, B-ll, C-I, D-llI
2. A-IV, B-l, C-lll, D-II
3. A-l, B-ll, C-IV, D-lil
4. A-ll, B-lll, C-IV, D-I
Options :
92090648293. 1
92090648294. 2

92090648295. 3
92090648296. 4

Question Number : 75 Question Id : 92090612230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Cis 289 71 ¥H2 X8 1=2HA .

Jjm

& Z@sict

To take lateral exit

To apply for a patent

e =

To sign a special agreement
4. To terminate an agreement

Options :



92090648297. 1
92090648298. 2
92090648299. 3
92090648300. 4

Question Number : 75 Question Id : 92090612230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Che B8O 7HY Y2 8 12dA .

Jjm

of S35t

1. To take lateral exit
2. To apply for a patent
3. To sign a special agreement
4. To terminate an agreement
Options :
92090648297. 1
92090648298. 2

92090648299. 3
92090648300. 4

Question Number : 75 Question Id : 92090612230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHS B8] 7 Y2 X8 12HA 2.

Jim

o S35ttt

1. To take lateral exit

2. To apply for a patent

3. To sign a special agreement
4. To terminate an agreement

Options :

92090648297. 1
92090648298. 2
92090648299. 3



92090648300. 4

Question Number : 76 Question Id : 92090612231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CtE2 1 7 ¥%2 EES 1

I
|t
=
o

Li2tE 91510 MOt =7 d8a =482 548 71217] 25ty Fet 4.

1. d5¢
2. JfHE
3. oYE
4, =54
Options :

92090648301. 1
92090648302. 2
92090648303. 3
92090648304. 4

Question Number : 76 Question Id : 92090612231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHSS 82 7P %2 BEE D24

LigtE ?I510] MO =2 d8a ==54E832 548 712/7] 25ty Fot 4.

1. #5¢
2. JHE
3. ofed
4 FEH
Options :

92090648301. 1
92090648302. 2
92090648303. 3
92090648304. 4



Question Number : 76 Question Id : 92090612231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHSS A1 7He ¥%2 B8g 124 2.

LtZE 2lot0] W2 s 281 =sd 829 5482 712]7] fI5hY Fgt 2.

1. @5
2. VWA
3. HuHE
4. 53
Options :

92090648301. 1
92090648302. 2
92090648303. 3
92090648304. 4

Question Number : 77 Question Id : 92090612232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Ol E0{E ¥H2 HE n2HAR.

rot

Ol £=m50F4 7|

alm

( A= ot

off CF

rr

1 2022
2. 2023
3. 2024
4 2025
Options :
92090648305.
92090648306.

92090648307.
92090648308.

AW N~

Question Number : 77 Question Id : 92090612232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol E0{E Y2 ©E L2MUAL,

( ja=

-

rot

Ol =1 50F4 7|

0T
ot
rir
=
o

1 2022
2. 2023
3. 2024
4 2025
Options :
92090648305.
92090648306.

92090648307.
92090648308.

AW N =

Question Number : 77 Question Id : 92090612232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Ol E0{ZE EH2 ©E 1242,

ro

-9l =W 50 F4 7|

ol

of

off CF-

rr

( e

1 2022
2. 2023
3. 2024
4 2025
Options :
92090648305.
92090648306.

92090648307.
92090648308.

AW N =

Question Number : 78 Question Id : 92090612233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol E0{ZE EH2 ©HE 12HA 2.

ot 58] FALEA MR HEH 24 U= O=2 st=1d EA 52 €E0|

T I S .
Z
e
o

Options :

92090648309. 1
92090648310. 2
92090648311. 3
92090648312. 4

Question Number : 78 Question Id : 92090612233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Ol E0{ZE EH2 ©HE 12HA 2.

ot 58] FALEA MR HEH 24 U= O=2 st=1d EA 52 €E0|

O FO{F 22 ( )OIt

T I S .
Z
e
o

Options :

92090648309. 1
92090648310. 2
92090648311. 3
92090648312. 4

Question Number : 78 Question Id : 92090612233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol E0{ZE EH2 ©HE 12HA 2.

ot 58] FALEA MR HEH 24 U= O=2 st=1d EA 52 €E0|

T I S .
Z
e
o

Options :

92090648309. 1
92090648310. 2
92090648311. 3
92090648312. 4

Question Number : 79 Question Id : 92090612234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Ol S0{ZE €2 @S 12HA2.

ok

Ciet2l=ol A 18 L CiEsE 2= 2013 WO F &8 20| ( )OI L.

r

1 205
2 483
3. g2
4 =M el
Options :

92090648313. 1
92090648314. 2
92090648315. 3
92090648316. 4

Question Number : 79 Question Id : 92090612234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol S0{ZE €2 @S 12HA2.

CietRl=2| X 18 Cf CHSH 22 2013 Ao FHASH 20| ( )OI CF.
1. 20E

2. H¥d¥

3. o929

4. ZH¢l

Options :

92090648313. 1
92090648314. 2
92090648315. 3
92090648316. 4

Question Number : 79 Question Id : 92090612234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Ol S0{ZE €2 @S 12HA2.

Ciet2l=ol A 18 L CiEsE 2= 2013 WO F &8 20| ( )OI CF.

o~ Ho
2
oY 4o

rJoret

s

1.
2.
3
4.

Mo JZ

|
e

Options :

92090648313. 1
92090648314. 2
92090648315. 3
92090648316. 4

Question Number : 80 Question Id : 92090612235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) ol SOE 7HS 2 038 24 2.

ol R

ol HE WO o=
S 1 Al
i S e
oF n
- -
Il

St
n
Il

Options :

92090648317. 1
92090648318. 2
92090648319. 3
92090648320. 4

Question Number : 80 Question Id : 92090612235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) Ol ST 7hE ER2 OFE L4A 2.
MIE ( ). 45 ( )
1. 471t
2. SHCE
3 Sro|shet
4. ot
Options :

92090648317. 1
92090648318. 2
92090648319. 3
92090648320. 4

Question Number : 80 Question Id : 92090612235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) ol SOE 7HS 2 038 24 2.

MIDE ( ), 258 ( )
i 7 MZ|Ch

2 ot

3. SHo| STt

4. =i

Options :

92090648317. 1
92090648318. 2
92090648319. 3
92090648320. 4

Question Number : 81 Question Id : 92090612236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CISS 1 ( ) ol SOIE U2 @S 12HAL.

0] t=2fsta A= ( OlA AtEhel o|Df 7} LIEFLIY, bRl ol A RHHof CHEt
| ZEfLCt

-

o™
E b
= Y

re

1 off Of| H| Af & H Of| A
9 k=i L

3. oje2|

4 A

Options :

92090648321. 1
92090648322. 2

92090648323. 3
92090648324. 4

Question Number : 81 Question Id : 92090612236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



x|
gjo
ijo
no
kel

) Ol E0{E U2 ©HE 12HA 2.

YOl A AtEhe| of0|7F LIEFLIY, "Lha 3o Arof Chzt

o
=
i@
h=}
H
Mu
kl
90
rir

e
1=
=]

1
2.
3. g
4

Options :

92090648321. 1
92090648322. 2
92090648323. 3
92090648324. 4

Question Number : 81 Question Id : 92090612236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CISS 1 ( ) Ol S0 ¥H2 ©@E 124A.

o
>
e

Of st A= (MM AtEef 2IDf 7} LIEFLIY, *bhR2l ol RHHof CHEt
| ZEfLCt

re
|
o

1 Sff Off A A A of A
-3
3. o 2|
4

Options :

92090648321. 1
92090648322. 2
92090648323. 3
92090648324. 4

Question Number : 82 Question Id : 92090612237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol S0{F 7 Y2 AE D2HA L.

( 2/e MEF, TN g Y O|F =35 A8 tESt=
E7Ho[Cf,
1. A48
2. Hed
3. d&¢
4. Y4y
Options :

92090648325. 1
92090648326. 2
92090648327. 3
92090648328. 4

Question Number : 82 Question Id : 92090612237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) Ol SE0{Z 71 Y2 Z2 1242,
( 1=/ MEF, s S ot o) =25 AZ S ESI=
70| Ct,
1. 448
2 4dYd
3. d=2
4, MY
Options :

92090648325. 1
92090648326. 2
92090648327. 3
92090648328. 4

Question Number : 82 Question Id : 92090612237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol S0{F 7 Y2 AE D2HA L.

=
1
ot
F>
el
Mo
ot
22
e
mjo
=2
kel
O
rr

H

rr
oF

NEF, s

L

( =/ i O

xt7}ojct.

1. d48
2. Hed
3. d&¢
4, Had
Options :
92090648325. 1
92090648326. 2

92090648327. 3
92090648328. 4

Question Number : 83 Question Id : 92090612238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) ol S01E 71 EH2 218 124A L.

<S>0 B} jolct.

N o

1
2
3

=)
o Mo o ol
Ho ng = Jo

o

4.
Options :
92090648329. 1
92090648330. 2
92090648331. 3
92090648332. 4

Question Number : 83 Question Id : 92090612238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( YOl E0E 7P Y32 A2 1240 L.

M
40
=
~
(13
A"
Io
N

7t ( )OI C},

1

1
2.
3

L=
oo Mo o of
Ho ng = o

L

4,
Options :
92090648329. 1
92090648330. 2
92090648331. 3
92090648332. 4

Question Number : 83 Question Id : 92090612238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) Ol E01E 718 2 28 124A L.

<R71E>2] BI}= ( )OIt
1. d8%
2. YHx|
3. O|2&
4. THEE
Options :

92090648329. 1
92090648330. 2
92090648331. 3
92090648332. 4

Question Number : 84 Question Id : 92090612239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



g 1 ( ) ol S0j% Y2 HE DAL,
<QI0HE EfE> o] BTt ( olct.

1. o
2. d=¢l
3

4 ¢4

Options :

92090648333. 1
92090648334. 2
92090648335. 3
92090648336. 4

Question Number : 84 Question Id : 92090612239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHSS S ( ) Ol E0{E EU2 ©HE D2HAL.

<Q{0HE BERS> 0] BT ( jolct.

1. ot

2. d&¢9l
3. MA=m
4 Yoo

Options :

92090648333. 1
92090648334. 2
92090648335. 3
92090648336. 4

Question Number : 84 Question Id : 92090612239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s 9o ( ) ol S0j% Y2 HE DAL,
<QI0HE EfE> o] BTt ( olct.

1. ot
2. d=¢l
3

4 ¢4

Options :

92090648333. 1
92090648334. 2
92090648335. 3
92090648336. 4

Question Number : 85 Question Id : 92090612240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHSS HA ( ) Ol SOIE U2 @S L2HA L.

7h e B giof BHCha M2
LW, AES 2R e H ( )2/8 + ATk AZecH

0=
rx

o
——
il
—

1,
2.
3

m <o
WMo QF

o

n

4,
Options :
92090648337. 1
92090648338. 2
92090648339. 3
92090648340. 4

ne
|0

[al
1l

Question Number : 85 Question Id : 92090612240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ChES 3 ( ) Ol E0{ZE EH2 ©HE L2HAM2.

7h AlE2 B giof siChn MZbstL T
L, Algle 2B ARie o ( )=2/8 5 ATk WAFUCH

1. dSHCt

2. 7|90

3. €3Eh

4. go?|ct
Options :
92090648337. 1
92090648338. 2

92090648339. 3
92090648340. 4

Question Number : 85 Question Id : 92090612240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHSS 82 ( ) Ol S0iZ YU2 ©E 12N

7h NEE 2 slof sickn AZpstL 7k
b Y, NS 20 MBg O ( )2/2 + ATHD WAL

0=

m 4o rx
e O R | OF

e |
——
m
—

1.
2.
3

o

Ml

4
Options :
92090648337. 1
92090648338. 2
92090648339. 3
92090648340. 4

ne
|0

[al
n

Question Number : 86 Question Id : 92090612241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( )0l S22 SO 71 YRS To|§ n2dAR.

re
OF!

), ( VA=, ( A

0zt
2t

[Tt}
it

1.
2.
3

o]

o
Hoor

4
Options :
92090648341. 1
92090648342. 2
92090648343. 3
92090648344. 4

Question Number : 86 Question Id : 92090612241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( )0l 2522 SO{Z 7HE YU2 THoj§ DEHA L.
Ol ) ( K|, ( JEH AL
1. B
2. Hgt
3. H=
4. 21 #A
Options :

92090648341. 1
92090648342. 2
92090648343. 3
92090648344. 4

Question Number : 86 Question Id : 92090612241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( )0l S22 SO 71 YRS To|§ n2dAR.

re
OF!

), ( VA=, ( A

0zt
2t

[Tt}
it

1.
2.
3

o]

o
Hoor

4
Options :
92090648341. 1
92090648342. 2
92090648343. 3
92090648344. 4

Question Number : 87 Question Id : 92090612242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ChEE &4 ( ) ol SO|& EoE BE 124A2.
HEHE ( )2l 550 |X[s RACE
1. 8%
2. ME
3. i
4. 2
Options :

92090648345. 1
92090648346. 2
92090648347. 3
92090648348. 4

Question Number : 87 Question Id : 92090612242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ChEs S ( ) ol SO{& $RE2 ©E 1242,

ettt )2l S50 /XIs ACH

4.

Options :

92090648345. 1
92090648346. 2
92090648347. 3
92090648348. 4

Question Number : 87 Question Id : 92090612242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ChEE &4 ( ) ol SO|& EoE BE 124A2.
HEHE ( )2l 550 |X[s RACE
1. 8%
2. ME
3. i
4. 2
Options :

92090648345. 1
92090648346. 2
92090648347. 3
92090648348. 4

Question Number : 88 Question Id : 92090612243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CrE2 $HL ( ) Ol SHZE 7 EH2 ©@E 12HAL.

..,..
=

1636 HOl| L7t =42 HYs BE2 ( )0l Ct.

1. GAzd
2. YT
3. Mt @™
4, OfALE T 7
Options :
92090648349. 1
92090648350. 2

92090648351. 3
92090648352. 4

Question Number : 88 Question Id : 92090612243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cte2 S ( ) Ol SOE 7 EH2 ©§E 12HA L.
1636 HO| L7t =4S HYs HE2 ( )0t

1. GAazd
2. ATeH
3. AMEE HY
4, OfALE M7
Options :
92090648349. 1
92090648350. 2

92090648351. 3
92090648352. 4

Question Number : 88 Question Id : 92090612243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CrE2 $HL ( ) Ol SHZE 7 EH2 ©@E 12HAL.

..,..
=

1636 HOl| L7t =42 HYs BE2 ( )0l Ct.

1. GAzd
2. YT
3. Mt @™
4, OfALE T 7
Options :
92090648349. 1
92090648350. 2

92090648351. 3
92090648352. 4

Question Number : 89 Question Id : 92090612244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHES 2 ( ) Off S0{E 7 Y2 §E L2HA L.

X
=

£2

il

Ha
>
rr
ne
ro

)2tal/0| 2t ShLY,

Yo
2 85k
3 =8
4. =Y
Options :
92090648353.
92090648354.

92090648355.
92090648356.

N O R S R

Question Number : 89 Question Id : 92090612244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ChES 3 ( ) Ol S0E 7 Y2 §E 12dA L.

HOE A QAL de ¢ )2t /0|2t Bt

L

2. 8Bk

3. =8
4. BY

Options :

92090648353. 1

92090648354. 2

92090648355. 3
92090648356. 4

Question Number : 89 Question Id : 92090612244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHS2 2 ( ) Ol SO{E 7 Y2 B8 12dA L.

.
=

£

i

H
>
rr
ne
ro

)=tal/0 2k B,

1.

2. B

3. 28
4. Y4

Options :

92090648353. 1

92090648354. 2

92090648355. 3
92090648356. 4

Question Number : 90 Question Id : 92090612245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ClES A 71 Y992 €8 1244 .
20 7k HALE XYL R EHE SE= €

1. &=
2,
3. O
4 48
Options :
92090648357.
92090648358.

92090648359.
92090648360.

AW N —

Question Number : 90 Question Id : 92090612245 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ClES A 71 Y992 €8 1244 .

20 7k HALE XYL R EHE SE= €

T S5
2,
3. O
4. 48
Options :
92090648357.
92090648358.

92090648359.
92090648360.

AW N —

Question Number : 90 Question Id : 92090612245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ClES A 71 Y992 €8 1244 .
20 7k HALE XYL R EHE SE= €

1. &=
2,
3. 0=
4. 48
Options :
92090648357.
92090648358.
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